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A & 0l & AF 2 E A A
2M: SAEZD
A SAHEAMS
chel: el CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
S AIEZ 18,049,477 11,072,863 6,976,614
= 1,978,880
s 1,413,000
< 392,499
s 14,265,098
SAIHE AL 10,042,494 5,007,971 5,034,523
s 1,413,000
< 200,000
[ia 8,429,494
T 2elHE 2,425,500 854,924 1,570,576
s 1,200,000
= 200,000
s 1,025,500
=2t el H & 425,500 25,500 400,000
201 YEt2 Ayl 25,500 25,500 0
01 At 2teltl 3,500 3,500 0
Oz HEANE 23108 2,000
ORE0YZ gretAsl MHE T2 MEZ 1,500
02 2324l 22,000 22,000 0
OZAIHEZEEHMA(UPIS) S S 22,000
401 Al HIZK 201 I 400,000 0 400,000
01 A& HI 400,000 0 400,000
02035 F2Z2clHE (MHAY) =884 400,000
SATHY E85ALY 2,000,000 0 2,000,000
s 1,200,000
< 200,000
s 600,000
101 124 dl 106,430 0 106,430
04 JIZH2RANES S 106,430 0 106,430
OGAITHA K R ME 0121 88,200
—dHE 350,000& x1H «83|«12& 33,600
—ANR=E 2,600,000 1H«12& 31,200
— ANRE 1,950,000 18 128 23,400
OEAMNTHMXZEME AHEE S
54,600,000 »10% 5,460
OEAMNTHMXZME HNE EAZ 4,550
—AM2IE(1Y) 2,600
—AM2E (1Y) 1,950
OAlZte 28+ 21,0003 «10Al 2t+128 2,520
O=3Uoigl(=2l) 50,0003 *3H 182! 2,700
OHEFIHY| 500,000& *3H +23| 3,000
201 YEt2 eyl 143,000 0 143,000
01 At 22/l 30,000 0 30,000
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OZSANMMIAHE 22 &9
2,500,000 x12& 30,000
02 2224 4| 3,000 0 3,000
O2229g 23 250,000 x12& 3,000
03 A2 H| 110,000 0 110,000
OEAMM REAMY 29 110,000
202 o4 | 3,000 0 3,000
01 2L HI 3,000 0 3,000
OZANMM 43 =& oyl 3,000
— 2K 20,000 2 x45H 1,800
— 22 60,000& 2 »10H 1,200
307 giztol & 10,000 0 10,000
Fag 8,000
= 2,000
02 QIZIA AAIE E X 10,000 0 10,000
OEAIMAM F032 ALY 10,000
= 8,000
= 2,000
401 Al HI L 2 0HHI 1,485,070 0 1,485,070
Fag 1,192,000
o= 198,000
= 95,070
01 Al&H| 1,482,452 0 1,482,452
OZBE CAMY LAY EX L AS2 S
OH & 1l 758,022
hag 594,472
= 109,574
= 53,976
OHEZ22F & M2 S0C =4 724,430
g 597,528
& 88,426
= 38,476
03 AlE 21| 2,618 0 2,618
OHEZ22F & M= S0C =4 2,618
402 SI2vXHE0| ™ 250,000 0 250,000
01 It EANSE X (MM A) 250,000 0 250,000
OoaMga AJ XM 50,000,000 x50 &~ 250,000
405 XHAHF S HI 2,500 0 2,500
01 XAt 2 ZF S| 2,500 0 2,500
ONIEII(1TH) 1,000
OWZD (1) 1,500
2HEAIE A 7,616,994 4,153,047 3,463,947
= 213,000
= 7,403,994
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
D2 HEAE 22 13,000 13,000 0
201 £B-2d| 13,000 13,000 0
01 At 22l 13,000 13,000 0
OUYASI =&KX 7¢ 15,000& 200 3,000
O=8ML HES(HIEFIHE) 10,000
THEANEH ARSI 24 2,100,000 1,550,000 550,000
401 AIEHI L 201 2,100,000 1,550,000 550,000
01 A& HI 2,100,000 1,550,000 550,000
OZHEAMNEUW ARX W (0IE2SX, &0
X8 300,000
OEANF=XNE HYEX 24 620,000
OsAte]l AZEZZ2(E21-6) HEBAF BHAEX
24 500,000
O%SH(522-21) JYE=2 HAYEX L4 550,000
OEEXNZ? ZHEEZZ HEaSAF HAERX B4 130,000
2HEERZ RAES 353,000 353,000 0
206 M= Hl 3,000 3,000 0
01 =8l 3,000 3,000 0
OANRERZ 288+8 SotE 7¢ 3,000
401 A& HIZ 201 I 350,000 350,000 0
01 A& HI 350,000 350,000 0
OAJX B FHI 50,000
OANIIX E2410 E 100,000
OAIJHX &2 M| 100,000
OANIJHX &2 EXE 44X 100,000
SEEA-I L2035 M2 ZHEZ=Z A 400,000 200,000 200,000
401 AIEHI L 201 400,000 200,000 200,000
01 A& Bl 397,120 200,000 197,120
OZEEIA-=2E28562 ZHEEZ=Z e 397,120
03 A& S THHI 2,880 0 2,880
OZEEIA-IERBSH2 ZHEZZ A
400,000,000& x0.72% 2,880
SE2M-HLUXZ2d E2 2F 1,050,000 600,000 450,000
401 A& HIZ 201 I 1,050,000 600,000 450,000
01 A& HI 1,046,220 596,220 450,000
OSW-~d8ux=z22t &2 &% 1,046,220
03 A& =TI 3,780 3,780 0
O=M~dduxzz2t &2 &
1,050,000,000& *0.36% 3,780
22 E2(22) MHE 400,000 300,000 100,000
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401 Al HIZ 201 Y| 400,000 300,000 100,000
01 A& HI 397,120 297,840 99,280
O22M FHEZZ HESAH(EONR2H) 397,120
03 A2 S THHI 2,880 2,160 720
O22M ZHEZZ HESAH(EOR2H)
400,000,000 x0.72% 2,880
SAFESOIE &€ &2 W4 100,000 200,000 A 100,000
401 Al HIZ 201 8] 100,000 200,000 A 100,000
01 A& HI 99,280 198,560 A 99,280
O=sAM=30IE &€ 22 N4 99,280
03 Al 2 THHI 720 1,440 AT20
O=sAM=30IE &€ &2 W4
100,000, 000& *0.72% 720
FAxSsw & EASFIHE 24 240,000 171,224 68,776
401 AIEHI L 2CHYI 240,000 171,224 68,776
01 A& tl 238,272 170,000 68,272
OZF=ss & ZAFXE =4 238,272
03 AlE 2 THHI 1,728 1,224 504
OYBZSSD ¢ TAEHNE T4
240,000,000& *0.72% 1,728
o SSAHE SE 4 - AS - SEQ & ST 213,000 211,000 2,000
s 213,000
403 MHXSHHSA=0l& 213,000 211,000 2,000
s 213,000
02 I 2S0CHet A =& 2 & AL H 213,000 211,000 2,000
Oz SHAHE S8 &M - A5 - S &
Eia=] 213,000
s 213,000
HaXIRA2EE2H4 1,200,000 0 1,200,000
401 AIEHI L 20HYI 1,200,000 0 1,200,000
01 A& Bl 1,192,440 0 1,192,440
OUAXZ A2ACZ M (FUH) 1,192,440
03 Al S THHI 7,560 0 7,560
OUAaXIZ? 222 M4
1,200,000,000& *0.63% 7,560
Z2SH(E22-21) MYE=Z MHE 420,000 0 420,000
401 Al HIZ 201 I 420,000 0 420,000
01 A& HI 416,976 0 416,976
OFFH(Ez2-21) Jge=2 N4 416,976
03 Al S HHI 3,024 0 3,024
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SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OESH(E22-21) MAEZ=2 &
420,000, 000& x0.72% 3,024
EALES 200212 =4 80,000 80,000 0
403 XX SHHS K20 & 80,000 0 80,000
02 BI2SHUSXA=2EAEAIE Y 80,000 0 80,000
OALsS 200212 =4 80,000
CTAZE HE(2E2M S0 2 ) 600,000 200,000 400,000
401 AlEHIZL 2 0HY| 600,000 200,000 400,000
01 Al&H| 600,000 200,000 400,000
O=2M s 22 &H| 600,000
SZINE=AMY =& 47,994 24,823 23,171
101 2121 4| 3,554 3,383 171
04 JIZtHIZ22XNSE S 3,554 3,383 171
O=2Y s 212 A 3,554
— ol d]| 73,280& x4 x 12 3,518
—AMEE S 3,518,000 *1% 36
201 et 9| 13,440 13,440 0
02 2%l 13,440 13,440 0
O8N AN SA e 400,000 *3004 &~ 12,000
Od&XYH HMIIR3 60,000 x2J A x12& 1,440
301 dEtE M= 3,000 0 3,000
12 JIEtE A= 3,000 0 3,000
O=2Y 849 £=H ZLA= 1,000& *2,000&+ 2,000
0S¥ S 202 ST M A3
20,000& *503] 1,000
401 Al HIZ 201 Y| 20,000 0 20,000
01 Al&H| 20,000 0 20,000
O8x=a XIZAHAL & 20,000
402 IV X201 & 8,000 8,000 0
01 BIZtXI =AY S X (KM IHK) 8,000 8,000 0
Os2&1N=E U] AIEYEWH A 72-E & X
1,000,000& *8IH A 8,000
AMIFK ENF=XE XM 400,000 0 400,000
401 AlEHI 2 2 0HY| 400,000 0 400,000
01 Al&H| 397,120 0 397,120
OAIFR EH=RE =4 397,120
03 AlEE2HH]| 2,880 0 2,880
OAIJIR EM=XE =4
400,000,000 x0.72% 2,880




- _ _ RE]
M- B (B H) - NSAY - B Ol At o ﬁ}lgﬁ HRE2
NASAES 7,797,733 5,872,712 1,925,021
= 1,978,880
& 192,499
= 5,626,354
BHEE M J|BtE A 1,911,351 1,622,893 288,458
= 1,000,040
= 58,200
= 853,111
StAE Mo E M35} 30,110 32,520 A2,410
201 et | 15,990 8,400 7,590
01 AFR 2t 2| H| 4,950 6,000 A 1,050
O+ZANE LRUWSY 7
100,000& »38+ A 300
OFZEIAN =22 50,000 130 A %4 3] 2,600
OEAXEOEN E22 MH 1,000
OLEdEEA XIIHA BX2 At =8
3,000 «350CH 1,050
02 232%4| 11,040 2,400 8,640
OS2 e SECCTV Sdlg ¥ =2
230,000 x40 A~ x12& 11,040
202 044l 1,320 1,320 0
01 2L Y| 1,320 1,320 0
OBABUAL =1 HFX WO
60,000 x2&H x5! 600
OL=Z& AN 23 60,000& x1H x123] 720
203 SR F & 10,000 10,000 0
03 AIZH =X 25 X H| 10,000 10,000 0
Ostzd &g =48 S 10,000
301 et A =2 2,800 12,800 A 10,000
09 HALAHIXIE 2 2,800 12,800 A 10,000
OBALHUM DS S FHN 24
8,000& x150H 13l 1,200
OMEAME AF 20UT S A A4
8,000& x 100 23| 1,600
MEfEEIZ Al A 22 34,397 2,093 32,304
101 Q124 H] 4,397 2,093 2,304
04 JI2ZtHIZ22NEE S 4,397 2,093 2,304
OMEIEZSZ EH DI 73,280 x6H x5 x23| 4,397
401 Al HI L £ 0HHI 30,000 0 30,000
01 Al& B 30,000 0 30,000
OMEHEEZ AlDd E 30,000
EEAZOIEN 24 X3 24,000 34,000 A 10,000




2N SAEE D

g N2
J

Hel: SAEA JIBHEY (S &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

= 12,000
s 12,000

301 LEAZ 24,000 34,000 A 10,000
= 12,000
s 12,000

12 JEEd= 24,000 34,000 A 10,000
OEHAZOEN 29 24,000
= 12,000
s 12,000

NSt EAZERH 28 N2 480 0 480
= 240
= 240

301 LerEAF 480 0 480
2 240
[ 240

12JIE243 480 0 480
OXsx BAZEN 24 X3 480
2 240
s 240

HATEZ2 24tA AHALY X2 4,000 6,000 A 2,000
= 2,000
s 2,000

307 gl2tol & 4,000 6,000 A 2,000
= 2,000
[ia 2,000

02 IZtF M AHE L 4,000 6,000 A 2,000
OJIZEZUERT 24ItARCE ALE 4,000
= 2,000
[ia 2,000

L 3R ZJIHX X 961,680 880,000 81,680
= 576,000
< 48,000
e 337,680

201 L2l 1,680 0 1,680

01 At 22l 1,680 0 1,680
OXJIHX EX= &E+==+2  3,000& *5600 1,680

301 LA F 960,000 880,000 80,000
= 576,000
= 48,000
s 336,000

12 J|EtE &= 960,000 880,000 80,000
O3 ZJHX XA 960,000
= 576,000
< 48,000
e 336,000
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
LPGRt =Xt &I Xt R XI& 200,000 200,000 0
= 100,000
s 100,000
402 2I2H X201 M 200,000 200,000 0
= 100,000
s 100,000
02 2IZE 2 A EZ(OI XM TH ) 200,000 200,000 0
OLPGSt 2 Xt &I Xt 7 K& 200,000
= 100,000
= 100,000
Ot M2 & XI(DPF) 22 K& 468,000 182,400 285,600
= 234,000
e 234,000
402 RIZEX20l A 468,000 182,400 285,600
= 234,000
i 234,000
02 U2 TEALEZ(0IETHR) 468,000 182,400 285,600
O M2 & (0PF) & X 468,000
=2 234,000
s 234,000
AEIAH AE WH XA 82,500 66,000 16,500
= 49,500
[ia 33,000
402 RI2HXt20l ™ 82,500 66,000 16,500
= 49,500
s 33,000
02 2IZt 2 A EZ(OI XM THS) 82,500 66,000 16,500
OH&EIAH A& wH XA 82,500
2 49,500
e 33,000
st 2ME SGEAAHE 29 11,240 0 11,240
308 XX EHSOIA 11,240 0 11,240
07 RHXSHA=EZ 11,240 0 11,240
ONSA 2 HME CHSAIAH 2H2e & 11,240
Helolssrxtg el LPGRE &3 XI& 49,000 125,000 AT76,000
= 24,500
i 24,500
402 RIZ2EA20l A 49,000 125,000 AT6,000
= 24,500
i 24,500
02 LA TEALEZ(0IETHR) 49,000 125,000 AT76,000
ONeol S&sxteEo LPGE M8 X
7,000,000% »7CH 49,000
= 24,500
e 24,500
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NHEE2 N=A B E=AtY 3,000 6,000 A 3,000
= 1,800
s 1,200
402 2I2H X201 M 3,000 6,000 A 3,000
= 1,800
s 1,200
02 2IZE 2 A EZ(OI XM TH ) 3,000 6,000 A 3,000
ONEE N=sA22H E2 3,000
— 2BHE 100,000& *30CH 3,000
= 1,800
s 1,200
FHANE TEF2L] B2 AY 4,000 4,000 0
< 1,200
s 2,800
402 RI2EXt20l 4,000 4,000 0
< 1,200
s 2,800
02 It 2 AL EZ (01X TH ) 4,000 4,000 0
OFAAE 2SI E2LY ESAY
800,000& +50H 4,000
< 1,200
s 2,800
oIasdy 29 - 22 18,360 18,360 0
< 9,000
s 9,360
201 Let24d] 18,360 18,360 0
< 9,000
[ia 9,360
02 =24l 18,360 18,360 0
OtI2g=dY CHY SHe=
30,000& 122 360
OlILE=3L 29 2l 18,000
< 9,000
s 9,000
OlMSX dss 7X 22| 11,784 2,520 9,264
201 ¢et24] 11,784 2,520 9,264
02 =224l 11,784 2,520 9,264
O0IMEZR d5E Y SR
15,000 1200 & %123 2,160
OO0IMZR dE5s MRS
26,0003 x2)4 A+ 12 624
OOIMER d5S |FXNE= 750,000 1204 & 9,000
SI|133t8 sMEH M4 XA 4,000 4,000 0
402 RIZER20l A 4,000 4,000 0
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 2IZEH 2 A B (KR ) 4,000 4,000 0
O3J13st8 sMEH AlE 4X N
2,000,000 *20H 2~ 4,000
OAISX IHHE X XA 4,800 0 4,800
402 2I2H X201 M 4,800 0 4,800
01 2I2F 2 A B (RERTH ) 4,800 0 4,800
OO0IMZX HAHAAE &X X
300,000 »169H 2 4,800
OIMESE ES 184,727 134,256 50,471
= 15,960
= 35,003
s 133,764
oHME=2 23 10,030 9,838 192
201 Let24d] 3,730 3,538 192
01 At 2teltl 3,730 3,538 192
O=gH3S HME(&7, Ha) 20,0003 *30H 600
Ogg, € X 822 WX
2503 *4,000% 1,000
ORoIMESE Z2 &0 HX(NelH)F
330& x5, 0000H 1,650
ORofiofdsSE FHES =& =4
8,000& x2H »302 480
206 M= Hl 2,500 2,500 0
01 M= 4l 2,500 2,500 0
OOtMs= JITM 7 25,0002 = 1004 2,500
301 LEPEXS 3,800 3,800 0
09 HALAHIXI &3 2,000 2,000 0
OEAMIY RoildsS=E 28 25 24 2,000
12 JIEBHE4 = 1,800 1,800 0
ORdidEsSE JISs?HMYE 22 232
60,000& *30H 1,800
oHMEs=2 253 22 22,204 22,548 A 344
< 5,496
[ia 16,708
101 @124l 22,204 22,548 A 344
< 5,496
s 16,708
04 JIZHHZ2Z2XNSE S 22,204 22,548 A 344
Ot=s= 253 2¢ 22,204
— QA H| 73,2803 x1&H+3002 21,984
< 5,496
i 16,488
—E8= 21,984,000 *1% 220
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SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OFM=Z2 HolUeEALE XNFAND(SEEIS) 31,920 28,200 3,720
= 15,960
= 15,960
402 BI2H X 20| M 31,920 28,200 3,720
= 15,960
= 15,960
02 QIZEXIEAIS E X (0| XM THL) 31,920 28,200 3,720
O0tMESZ2 TmoHuEAE K& AL 31,920
2 15,960
= 15,960
OS2 s&2 HEN 20,000 20,000 0
& 5,000
= 15,000
301 et A =2 20,000 20,000 0
< 5,000
= 15,000
12 JIEtE A= 20,000 20,000 0
OfMESE s&2 Mol2 4 20,000
= 5,000
= 15,000
SAoMss =& X 97,594 53,670 43,924
o= 24 507
= 73,087
201 et d| 42,160 0 42,160
=} 10,648
= 31,512
01 AFR 2t 2| bl 42,160 0 42,160
OMES=E MH XMl /A =2 40,000
& 10,000
= 30,000
OF=gae AAE AIE2 2,160
o= 648
= 1,512
301 YEHE A2 43,764 42,000 1,764
& 10,941
= 32,823
12 J|EtE A3 43,764 42,000 1,764
OK[HOIMESS (UK, DetL) Z& Ba2
X & 43,764
= 10,941
= 32,823
307 QI2t0| ™ 11,670 11,670 0
= 2,918
= 8,752
06 282 11,670 11,670 0
OfRilotM=Es L&t H82 A& 11,670
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D AAHEEES
P MEE B3

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 e 2
== 2,918
s 8,752
SA AMEHAEY 2,979 0 2,979
101 @14 Hl 1,979 0 1,979
04 JIZHHZ2XNHEE S 1,979 0 1,979
OSAl AMEHA AlE H=E=ZY
73,2803 *3H «3 +33] 1,979
201 Let249y| 1,000 0 1,000
02 3323l 1,000 0 1,000
OSAl AMEHAH Al SX2e] 1,000
BII=2E HHEasAMZE 2 SENEES 886,758 954,194 AB7,436
= 409,680
= 81,936
fia 395,142
SZIH oY 62,418 32,214 30,204
01 LBt FHl 31,558 31,354 204
01 At 22l 27,700 27,700 0
O el 27,700
—SZAAND SHEH(ERE S)
100,000 10 A 1,000
=0 IS0l MM (LYHA)
400,000 *3H 1,200
EAQRH S ANEEL =2
400,000& *3J4 & 1,200
FALEOIA, BHEMSE NEHZE MA
50,000& x12& 600
ot xEAL S A ME
150& =4, 666 Al CH 700
BHEOtA SHETH ZEHA =2
200,000 »5CH 1,000
S$EXNEEHSE SHEH =44 1,000
— 3L us WM M 1,000
—SXHIS HMlAr (FUEN)
500,000& 40& 20,000
02 22224l 3,858 3,654 204
ORI (st HAo SA)
380& *4,3000H 1,634
OHEAlIE & HESPC S8 Z
20,000& x12& 240
QIFZED| Selz 22,0003 x12& 264
IS B2 L 224 (1t) 1,000
UINFHNSEII S& U MR
30,0003 #2002 128 720
360 360 0
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01 = LH 4 bl 360 360 0
OEZHZ2Z HIEAMEH A2 SSEH
60,0003 »2H +x3 360
207 O & Hl 30,000 0 30,000
01 2284 30,000 0 30,000
OJNSAEHE RS NEEH HIDA EF 30,000
301 LA S 500 500 0
12 JIE 243 500 500 0
Odgd ] Z&z 100, 000& x5 500
Helsta IER2L B4 22 A 4,980 13,980 £9,000
201 Let24d] 3,180 3,180 0
01 AtR 22l Y| 3,180 3,180 0
OYergHl 3,180
—FEReY PY 2,0002 %2004 400
faM+=E + 2,000& 2004 400
—ANEMFE &, 0t23 P2Y
2,000& x4 +603] 480
—HHEMSENEEZE =Z2ZA =2 1,900
CIIEER 20,000 2004 2 400
aHal Al 30,0002 *500H 2 1,500
202 044l 1,800 1,800 0
01 = LH o4 1l 1,800 1,800 0
O=x=&ZdA s 2 60,0003 x2H 15 1,800
sdiolE ®Mel A& 819,360 908,000 A 88,640
= 409,680
< 81,936
s 327,744
308 XtXIEHH SOl A 819,360 0 819,360
= 409,680
< 81,936
[ia 327,744
N 3IN2SUHUE3 LS A 819,360 0 819,360
OsdiolE HMel XA 819,360
= 409,680
< 81,936
s 327,744
MEHIIS HE 2 4,814,897 3,161,369 1,653,528
= 553,200
< 17,360
s 4,244,337
gFacldy =29 1,037,591 932,936 104,655
201 Yet2 | 620,779 621,079 £ 300
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SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
01 At 22l 195,032 177,332 17,700
OMEH AIRES 7¢ 100,000& =12 1,200
OHI&TH X eldl 400,000& 150 60,000
O=&IAN =5 10,600
— Xl ot 250,000 x4 4 A *43| 4,000
— &&=+ 550,000& »12& 6,600
OLoI=4 At =2 5,000
Oz MIIEd Uy =2
1,500,000& »52== 78,000
O&ED| et ze| =2 800,000& »12& 9,600
OLYAIE HIHM =2 800
ORoAH 849 =2 220,000& »12& 2,640
OXYEZ=EE =2 1,000, 000& *23| 2,000
OCCTV !IE2Y8 =2 100,000& =123 1,200
OL2ANE HEE2LH HASAAMN =25 250
OA2AAE HIIZAA(1E/3E) 242 1,862
OAZIAE YRS BHHAN 442
50,0003 +50H 250
OX2AE HES2H E9Hl 220,000& »12& 2,640
OLZAIE AFHMA SEHI 60,000& 123 720
O=SMHIIE MelEaG| 150,000& »100& 15,000
OogtZdaeldyd 7] & Hlo dE=
450,000 +6CH 2,700
o1l =l 570
—&gs 70,0003 x3H %23 420
— OtM 5t 50,0003 »3H 150
02 8323l 425,747 443,747 218,000
O23223 ¥ HMAl 156,000
—dIRe3 12,000,000& =122 144,000
—A2AAME HELAES AIEE
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O X+t 3,200
— =471, NAX B2 500,000 *3CH 1,500
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—&E2 0 BEZ(1H) 1,000
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HAZHI(SER) 713&+24 *BAI2tx100L 1,141
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OgZacldHd g8 =8 S 1,000
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OHEX, HEZs =HE 7
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550,000& 3 1,650
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OZs=dd R E= 3,000
OoMdJl 29 SIIX<E CCTV 014 (501 4) 3,000
202 044l 600 600 0
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01 A& Bl 667,000 1,000,000 A 333,000
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ol 2 | 121,337 104,922 16,415
o1 24l 121,337 104,922 16,415
101 124 121,337 104,922 16,415
RS 116,255 99,891 16,364
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O Y E (15201 4~2311 0] 0) 5,082
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ORMEIdYLF A
(400,000 * 128 )+(5,0002 *132 » 128 ) 5,580




